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And according to the one who maintains 2% was in the time of 7w»

OVERVIEW

The X n3 cites a Xn>92 where the 21X 190 is presented after M7 and 2°2°7n. The
X3 asked that according to the 7"» that 21X lived in the times of fwn, why does
not his 190 precede N1 and 2°2°1n who lived after 21°X. The implication of the
question is that it is not on the Xn>72 directly but only according to the 7" that 21X
mn awn 2. Our MdOIN challenges this implication.

mooIn asks:
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And if you will say; why does the X713 say, 7'"'%91, indicating that we are not
certain what this N2 maintains regarding 21X, but this Xin of this very same

XN 12 maintains that 21X lived in the time of 2 -
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As it states in the end of this Xn»72, 77wn wrote up the book of 213x!

MDOIN answers:

INDPII2T NDYD Y19 KD ININT 920 v
And one can say; that the questioner did not as of yet know the x>0 of the
RN9992, therefore he asked 191 21K 7",

SUMMARY
The Xin of this Xn*12 maintains 777 7w *»°2 21°X; however the questioner of 7"
was not aware of this part of the Xn»92.

THINKING IT OVER
The text of the X3 reads 121 21X 7"1n9). Perhaps the 0" of 7"n71 stands for Xn9
R7 (referring to the X950 of the Xn»72) and not X7 ]N?J51?!2

! The n"2n1 N3 amends this to read, "X R ART.
* See w"wN.
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